
1.137u

L2

Current

22

R2

100
R3

1m
L1

50

R1 AC 100 0 Sine(0 1 1k 0 0)
V1

220p
C2

10p
C1

Voltage

P
1

S
1

TX1

227.36p
C3

Load 100 ohm with L match

AREF
Frequency / Hertz

1M 2M 5M 10M 20M 50M 100M

P
ha

se
(P

ro
be

3-
N

O
D

E
)-

P
ha

se
(T

X
1-

21
) 

/ d
eg

Y2

-0

20

40

60

80

V

Y1

200m

500m

1

2

5

10

369.6561m

2.1941840
2.5638401

5.2887Meg
6.9317Meg 12.220Meg

Voltage (ac7) (Y1)
Current (ac7) (Y1)
Phase(Probe3-NODE)-Phase(TX1-21) (ac7) (Y2)

AREF

Load 100 ohm with L match


